Station 1:  Budding Yeast
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The picture to the left shows yeast cells.  Some of them are budding.  The arrow is pointing to a cell that is budding.
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1.  How do you think this type of reproduction works?   

2.  Do you think this is asexual or sexual reproduction? 
 3.  Why ?
Station 2:   Budding Hydra 
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The hydra to the left is also budding.  You can see the new hydra on the right budding off the older one.   

1.  How do you think this type of reproduction works?

2.  How many organisms are required for budding to happen?

Station 3:  Bacteria Reproducing
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On the left are bacteria that are reproducing.  You can see that some of them look like two bacteria connected together.

1.  What type of reproduction is this?

2.  Describe how this type of reproduction would happen.
Station 4:  Pine Tree Reproduction
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On the left are two types of cones found on a pine tree.  The small yellow cones produce pollen and the large cone contains ovules that become seeds.

1.  What type of reproduction is this?   

2.  How many cells are needed for this type of reproduction?

3.  What are those cells called?
Station 5:  Flowering Plant Reproduction
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The flower on the left is from a tulip plant.  You can see the dark colored anthers that produce pollen and the white pistil that contains the ovules. 

1.  What type of reproduction is this?

2.  What would be involved in producing new tulip plants?

3.  Would these plants look exactly like their parents?   

 4.  Why or why not?
Station 6:  Mating Dance
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Station 7: Newt Regeneration
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Station 8 – Spore Formation
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Station 9 – Interphase Stages
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Stage 10 – DNA through Mitosis
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Station 11 – Phases of Mitosis









On the left is a picture of a peacock wooing a peahen.   Eventually, they will produce fertilized eggs and the peachicks will hatch.








1.  What type of reproduction is this?











2.  This type of reproduction can be difficult because the male has to find a mate.  So what is the advantage of this type of reproduction?

















The picture to the left shows the regrowth of a newt’s leg over the course of 12 weeks.  The different parts of the picture are all showing the same leg…at different times during the 12 week regrowth progress








1.  What type of reproduction is this?








2.  Why does this ability give the newt an advantage in nature?














3.  Is the new leg going to be the same or different from the old leg?


	








4.  Why?

















This is a picture of a dandelion after it has completely matured.  When the wind blows the puffs off of the stem, new dandelions will grow wherever they land.





1.  What type of reproduction is this?











2.  What do you call the packets of DNA at the end of the puffs?











3.  Will the new dandelions be the same as the original dandelion or will they be different?








4.  Why?














This is a picture of the interphase diagram, showing you the breakdown of the 3 stages of interphase.





1.  What occurs during the G1 phase?











2.  What occurs during the S phase?











3.  What occurs during the G2 phase?
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These are drawings of the different forms that your DNA goes through during the process of mitosis.  


For the following statements, put the letter (A,B or C) in the blank that matches the CORRECT drawing.





1.  This is called a sister chromatid.			





2.  This is called chromatin.			





3.  This called a chromosome.			





4.  The DNA is in this form during prophase and metaphase.			





5.  The DNA is in this form during anaphase and telophase.				


6.  The DNA is in this form during interphase.				





7.  This is DNA in its uncoiled and uncondensed form.				





8.  This is DNA in its coiled, condensed and copied form.			





9.  This is DNA in its coiled, condensed and copied form.			














10.  The two sister chromatids are held together by a _________________


**This is NOT an A, B or C answer**


























The diagrams to the left show you the 6 different phases of mitosis.  THEY ARE NOT IN THE CORRECT ORDER!!  


For the following statements, put the letter (A - F) in the blank that matches the CORRECT drawing.





1.  During this phase the chromosomes line up in the MIDDLE of the cell. ______





2.  During this phase, the spindle begins to form.		





3.  During this phase the DNA is doubled.		





4.  During this phase, the cell has two nuclei		





5.  A cell plate is put up in a plant cell during this phase.		





6.  In this phase, the chromosomes have split and the halves are moving APART/AWAY from each other.		





7.  In this phase, the cell membrane pinches off between two animal cells, forming 2 separate cells.		





8.  In this phase, the spindle starts to break down.		





9.  This phase comes right after telophase.		





10.  This is the CORRECT order for the phases.      				





11.  Draw the correct phases in the circles provided for you on your answer sheet.
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